316

355

318

36.8

35.6

KDYNE

26.4

573

429

44.0

218

VZDALENOST SACHET

KATASTR

‘D
D ) 3
[ae 4 -—
= g 5 o
& NS o =
/ a > —
=) Nw} ()
= B
=)
-
L X
U e | S S
N —_— o =
— 3|z il218]|s|e|S
o |« Ale|x]|w =
- o o
= NE 2|z
= x
o
=
=
> " >
Nz o wm >
< ~ w — Q ,ANn N ok
= n | < -t s|X|s|<]| x
Neo) = s|.|3|lElo|lx]| X
x ~ A I RS
— ndl =R =1 10 = R N
)
>N
= ~
= =< | Y
L = W\ -
= e |3 RS o~
N — pu g . a rA
" = - % N Ll K o
Ll <L m.. /O ) n =
g = £ ! <C L
<t = W N Z (]
N o = — > a <
¥ R ENES =
— = I< —
=z Z Zlzl 18121 & =L |5 =
<C =N B a N //.W A w = =
X O S a | 2 K o<
— o Zlal el T zle <
= Zlz N|E N <C €l=
o > zlo = ‘B = << o N
<C x ol * >
= v o< 4ls ©
= 2|5 = X RlE L
< <t = o Y2y B |
o o ol = w = alc 5
=] o|2 o _ =
[a 4 L =
— = e = / = | Z N
m 8| ol ' o e
o S 2| NE 2
(o' il —
= ¥ e|’=Z © |8
o un LA > —4 =z
a - y ) —
> N> (am| vl
_Aln > U Slg w | g x > o
L o < =< = = s . A
ol = o =1 o T
1 o R a : Slwnl> =
> s | = ~lw)Z Iy
> > NE L= 225 8
=z > —
2Tzt ONG ‘091 NO ‘.dWMO 65€ 'd2, INIFOJVN
S|
o~ &
ik ONG ‘094 NO *.4L7'd2 AN, INIFOdVN SS04 —1SL  —O0€lL  -S8'8YY -5L05%
N
[mm] °0>
%
| i
95'8%% ONO ‘091 NO *.dv)O 7147 ‘d2, INIFOdVN @ LE'€S —671L -6787 -8 '6%Y S
0 S , 2686 —IS1  —O0€L  -6l'8TY -676 |
2 — _
S T\ LW[SST YMEN0TH ‘IIVZITYNYY NMS¥1dS L3royd / - fLiE —S5T -6y -9%'6YY
_ LyLE LEL [ 70'8%Y 9€'6%%
W 0Z'L YMENOTH ‘(YNLYYA+OOAIdd) QOAOTdIL 08'62 LE €089 SEBTY
L8y ONO ‘09¢ K@V, NS0k CON.0M0 OLMAT 7762 \ LEL 0087y €67y
o 00 0 10 s ety 81| vie o ogmm e
: : ) 4 3 ! L)L 8582 A AT 62697
90877 ONO %_OM& &Mm%z _,_ﬁ.mi/ %im&% — = 8587 Z7e1 Lietn Lez gy
| o
P
65474 ONO ‘091 NO *.dW)O 225 42, INIrOdYN @ ﬂ 8£'90 —SEL -TSEYY -£8'8%%
o
s 2
o : L0 —ISL  —O0E1 -STiYY -stgyn |
N — —
o 0S'£7% ONO ‘091 NO .G 95642 AN, INIFOdVN @ _ e e AIALA -14'87
P
W 0g'0 YHANOTH ‘NN INIAIA IHIIYLNITI / mmmm% mm# mmﬁ mwm««
: oo 1 o.mm <mmm%ﬁa% INAG3A wm@_ 34 €0°E6 61 Nmm_ﬁj ?_wj
E7LTT ONG 09) N 14 q7eg) ' m_zﬁm;z\ 13373 J_‘ : 56'26 Nmﬁ Sty 79844
, P
|
=)
©
7€L7% ONO ‘091 NO *,dV)0 125 ‘92, INI0dVN @ 1 €18 — Tl —4TiYY -£5°87Y
€€°'£7% ONO ‘091 NO %4502 AN INIFOdYN @ +H £8'8 — 7L -STiYn -£58%4
W 08'0 YMENOTH ‘1IN GOAONATd 8508 AR (AR -258%%
o ~
o ° _ =
iad o . S9lE —ISL —O0EL -9LiyY -97'8%7 | g —
~ = | A
e 0Z'£4% ONG ‘091 NO *.d¥)0 025 ‘d3, INIFOdVN @ 589 —lEL -ty -nghy [
, -
Vo)
m
o
d S
£8'977 ONO ‘091 NG *,dV)0 207 ‘2, IN3rOdVN d 89y €L 08944 /518
£8'97% ONO ‘091 NO *.8€7°d2 AN, INIFOdVN @ | i 80'€" Zwgl S08'9%Y ~aLgy
S . ﬂ
iad & = £8€ —1S1L  —O0€L -69°9% -66tY |
8 — |
£4'9%% ONO ‘091 NO *.dVX0 8€% ‘42, INIFOdYN @ + %1€ —671 -59'9%% -S6'LYY
W 080 ¥MENOTH ‘1IN OOAONATd 1 9622 —EEL -£59%Y -06'4%%
29'9%% ONG ‘091 NO *.dVX0 944 ‘d3, INIFOdVN @ -+ €1z —€L -55'9%Y -88'44Y
o
, ”
s
4599 ONG ‘091 NO *.dVMO £ A, INIFOdYN @ % £97 —€l =979 -8tLYY
- £7°97% OND ‘091 NO *.£97'd3 AN. INIFOIYN @ 4 20 —O0€L -9€'94Y -99'44%
SV I o O
o - 0766 —15L —O0€L -€€9%% -9t |
N -—
a 9€'9%7% ONO ‘091 NO *,dV)O YXIONS S€ ‘42, INIFOdVN & _*_ / 88'96 —671 -67'9%% -85LYY
£2°9%% ONG ‘091 NO *.dVX0 941 2, INIFOdYN @ Ar 9516 —SEL -07'9%% -SGEYY
-«
, &
|
[
=)
. w 99'5L 051 E6'S7Y £ty
w grr ona Qop i TEREETE E anBani e il g7 LSt |zesny Jerim
3 o A 050 YYENOTH “INIUIA T E(TS A 18t 051 £z6G9 ARAE]
% m.v”o 68'57% ONO ‘007 NO *.L-20. INIrOdVN = 90U —Ell —1SL —68ShY oL
o~ ﬁ W 080 YNENOTH ‘1IN QOAONATd w 91t —151  -88'GYY -8ELYY
S
b o gy 051 IENOTH ‘00A000A , mm«m oS s JELLT
26577 oNa ‘09 Na 88 IRADIR A 62HPE ! 69°€9 =8y g “60 849
W 080 VENOTH ‘NN INI0IA IHIHLY3T3 / 1865 7L -8ESYY —6LLTY
W 05 YXENOTH ‘00A0O0A 96'85 —07l  -££5YY -8ty
£8'59% ONO ‘091 NO *.G 189°'d2 AN, INIFOJVN @ + 80'tS —07l -9£'5HY -9ltny
| -
ot
(Vg
o
/ ©
19'S7Y ONO ‘091 NG 718742 AN, INIrOJVN , 1542 L 6EL /055y /68977
19'S7% ONO ‘094 NO *.2-266 70'd AN INIFOdYN @ 6€42 <eel Lewsny L689%4
A _
iad o = lS'sk —2z91 —07l -Z7ShY -89 |
~ e /
[sm]
W 080 ¥MENOTH ‘11S OOAONATd / 19'50 —0S1 -%TShy -9y
| o2
x
o~
~
/ 3
©
/ ©
=
) ) a
967174 ONd .oer Na .=n_<.xo gy 'dy, INIrodvN 1 6548 181,58y ,99'9%% M
S67%7 ONO ‘090 NO *.8%'d2 AN, NIrOdVN @ a2 8 96°€8 =8l -ugHy 99947 | 8
&
< (P
3 ,
VS_ , = 797t —6l'T —86l -£941 -099% |
~ W 08'0 YHENOTH 1LS OOAONATd e | 9904 0T /29 £69°97%
o W 08'0 YMENOTH “1LN 0OAONATd S ” S6'69 =T -9 -9y
w080 YMANOTH ‘NN INIAIA IHIIYINITI /_ 0£'89 —961 -29%% -85'9%%
W 050 VMENOTH "_ZM_DM_> 1JVAQ0T30S W 1%'69 — €81 -19%yY —HhghYy
W 050 YMENOTH {INIAIA 1I¥A01IAS L _ _ _ _
W 88'0 YYENOTH ‘00A0TdIL "AYLS \ _ &l ot TR LA Az
W Sg'0 YMENOTH ‘A0A0TdIL ‘AVLS ) _ 6509 €91 099 BTARA
o |
ju g
=
(FN)
o . '
> W 080 YXENOTH NN INJOIA IHIMLNI1 7 8z'6€ izl o Jeesy
5 < W 0g'0 YHANOTH ‘NN INIAIA IHINYLNITI 87'6€ tzl Logwmy £8°G4Y
o R 3
o o ~
s & 7 =
S 2 S
° 35
>
2 . |
S ® 3w = 2987 —8EL — AL -0SYY -LE'S
o~ 2 = = f
VE .MHHH
3z
> 32 |
> x 0O
| E
S c
)
o | - w
[mm] o
- o o
“ A
R o | | o
| — /m 1890 —860 —9£0 -67TY -97°5%%
a v =
= o
4 o 7 » » » » » (S mE A omé —760 —Ll0 -8y -6l
> J65) A FHHH 00 —L00- —EZp- —gh _c7
V_ < 7 a a a a a ::::7&0000 100 m@ 8y STAVL A
= —
o~ = NI o
[mm] o o o o o o o o o W o >
S S S S S S S S S N L o
S o o [ee) ~ (V=) W) -~ o o — —
n - - ~ ~ < - ~ o
= < <+ <+ <+ <+ = < ~= _.._|._ > (o
.o —
> — N
<C (%) =
— (am]
wn > ©
x o =) =
x [a e \— N ]
— = o [a e <
o o o o L x =
g & £ B E g
=
x > o o 0o<
> — = T =z ) X
— ~N o > = = U Nr
b N S T & & 'S Fo
-] 0O = = = w > < =
o = a = o < = L
< o = u [a'd < — <o
2 <t = < < = a = o
> X g 5 5 =2 2 v =
= O <« = > > < < < 1 O
N — <t o o = = = —
< — — — O O O Z X
= wv = wn T T X x x awm




